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THE OPEN UNIVERSITY OF SRI LANKA

FACULTY OF EDUCATION

BACHELOR OF EDUCATION DEGREE PROGRAMME
(NATURAL SCIENCE) -2017/2018

LEVEL - 06

FINAL EXAMINATION 2019

ESU4205/STU6505- MEASUREMENT & EVALUATION IN EDUCATION
DURATION - THREE (03) HOURS

Date: 16.02.2019

Time: 9.30 p.m. — 12.30 p.m.

Answer All Questions in Part I and any three (03) questions from Part II. Calculators could
be used for basic mathematical calculations.

01.

02.
03.
04.
05.
06.
.07
08.

hS

PART - 1

Using one relevant example for each, differentiate between
“evaluation”.

“agsessment”  and

Explain in brief giving an example what is meant by informal assessment.

What are the principle stages in the process of educational evaluation?
Explain in brief what is meant by an ‘aim’ giving an example.
Explain the six (06) levels of cognitive domain citing examples.

What is the content validity of a question paper?

Explain briefly five (05) characteristics of normal probability curve.

Explain in brief the importance of assessment in the mathematics/science teaching-

learning process. ;

(5 x 8 = 40 marks)




09.

10.

PART - 11

Following are the marks obtained by 40 students in a final examination.

64 1 33 | 73 | 10 | 65 | 35 54 60
67 | 28 | 42 | 66 | 55 | 58 58 51
45 | 97 | 40 | 14 | 30 | 46 | 61 62
49 | 62 | 39 | 17 | 92 | 85 60 | 27
06 | 90 | 83 59\ 49 | 58 67 20

il.

iit.

v.

Prepare a frequency distribution for the above set of marks taking (41-52) as one
of the class intervals.
(03 marks)

Calculate thé mode and median of the distribution.

(05 marks)

Considering the assumed mean of this distribution to be in the class interval (41-
52) calculate the arithmetic mean.

(06 marks)

Find the standard deviation of the above distribution of marks. : .
(06 marks)

Marks obtained by 2500 students in a test are distributed according to the normal
probability curve. The arithmetic mean and the standard deviation of the marks are 52
and 14 respectively.

i.

ii.

iil.

Find the number of students who scored between 40 — 60 marks.
¢ (05 marks)

If those who obtained less than 30 marks fail the test, find the number of students
failing the test. '

(05 marks)

If ‘A’ grade is given to the best 15% of the students, find the minimum mark
required for an ‘A’ grade.

(05 marks)




11.

12.

i.

ii.

1ii.

ii.

1.

iv.

A

A

\

00007

What is correlation?
(02 marks)
Write two (02) uses of the correlation. |
(02 marks)

Marks obtained by 10 students for Mathematics and Arts are give below.
.

AIB|lC|IDIEC|F G| HTTI ]

Maths | 65 [ 30 | 45 | 37 | 50| 56 | 30 | 46 | 70 | 30

Arts | 65 | 69 | 50 | 47 | 76 | 80 | 55 | 60 | 60 | 57

a) Calculate the Rank Difference Correlation coefficient between marks of these
two subjects.

(13 marks)
b) Write your comments on the result.

(03 marks)
Explain in brief what is ‘Psycho-motor development’?

(03 marks)

Explain in brief three (03) factors affecting psycho-motor development.

(06 marks)

State the major aspects that can be measured in psycho-motor activities and
explain how those can be measured using an example.

(06 marks)

Construct an instrument with at least five (05) items to measure psycho-motor
development of students in a lesson of mathematics/science.

(05 marks)




13.

14,

ii.

1ii.

iv.

if.

iii.

iv.

00007

Explain what is meant by an essay type test?
(02 marks)
State three (03) advantages and three (03) disadvantages of an essay type test.
.- (06 marks)
Construct two (02) essay type test items. ,

> (04 marks)

Convert those essay type test items into structured essay type test items.

(04 marks)
Discuss in brief two (02) benefits df this conversion. |

(04 marks)
Explain what is meant by norm tables.

(03 marks)
Name three (03) types of norm tables and explain those with examples.

(09 marks)
Discuss the importance of norm-tables in citing examples.

(04 marks)

Can a specification table considered as a norm table? Give your reasons.

(04 marks)
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